[Image goes here]
Name:                                                      

Class:                                  Total:            
[image: image1.png]FOCUS





Group A
4.2 Comparative and Superlative Adjectives
Exercise 1
1 more famous: To make comparatives of 2-syllable adjectives NOT ending in -y you use more before the adjective.

2 most famous: To make superlatives of 2-syllable adjectives not ending in -y you use the most before the adjective.

3 further: The comparative of far is further – it’s irregular. 

4 furthest: The superlative of far is the furthest – it’s irregular. 

5 worse: The comparative of bad is worse – it’s irregular. 

6 worst: The superlative of bad is the worst – it’s irregular. 

7 happier: To make comparatives of 2-syllable adjectives ending in -y, you change -y to -i and add -er to the adjective.

8 happiest: To make superlatives of 2-syllable adjectives ending in -y, you change -y to -i and add -est to the adjective.

9 fatter: To make comparatives of short adjectives with the pattern consonant-vowel-consonant (f-a-t), you double the final consonant and add -er. 

10 fattest: To make superlatives of short adjectives with the pattern consonant-vowel-consonant (f-a-t), you double the final consonant and add -est. 
Exercise 2
1 the funniest: You use the superlative here because it’s comparing one person (Tom) against all the others (the other people in the class).

2 taller than: You use a comparative here because you are comparing one person (I) against one other (my best friend).
3 the best: You use the superlative here because it’s comparing one person (My sister) against all the others (the other students the speaker knows).

4 more important than: You use a comparative here because you are comparing one thing (health) against one other (money).

5 bigger than: You use a comparative here because you are comparing one place (London) against one other (Paris).

Group B
4.2 Comparative and Superlative Adjectives
Exercise 1
1 slimmer: To make comparatives of short adjectives with the pattern consonant-vowel-consonant (s-l-i-m), you double the final consonant and add -er. 

2 slimmest: To make superlatives of short adjectives with the pattern consonant-vowel-consonant (s-l-i-m), you double the final consonant and add -est. 

3 more beautiful: To make the comparative of long adjectives like beautiful, put more before the adjective.  

4 most beautiful: To make the superlative of long adjectives like beautiful, put most before the adjective.  

5 tidier: To make comparatives of 2-syllable adjectives ending in consonant -y, you change -y to -i and add -er to the adjective.

6 tidiest: To make superlatives of 2-syllable adjectives ending in consonant -y, you change -y to -i and add -est to the adjective.

7 nearer: To make comparatives of short adjectives like near, you add -er to the adjective.

8 nearest: To make superlatives of short adjectives like near, add -est to the adjective.

9 better: The comparative of good is better – it’s irregular. 

10 best: The superlative of good is the best – it’s irregular. 

Exercise 2
1 smaller than: You use a comparative here because you are comparing one place (Moscow) against one other (Tokyo).

2 the most intelligent: You use the superlative here because it’s comparing one person (Phil) against all the others (the other people the speaker knows).

3 the most difficult: You use the superlative here because it’s comparing one language (Hungarian) against all the other languages in the world.

4 older than: You use a comparative here because you are comparing one person (My grandmother) against one other (my grandfather).

5 the worst: You use the superlative here because it’s comparing one person (Greg) against all the others (the other students in the class).
Group A
4.5 have to / don’t have to
Exercise 1
1 Do: You use the auxiliary verb do with the subject you in the present simple.
2 have to: To show obligation, you need to use have to, NOT just have.

3 have to: With the subject I, you use have.

4 have to: You add -es to the auxiliary verb (Does) so you don’t add anything to the main verb (have).

5 doesn’t have to : You need a negative in this sentence – doesn’t have to.

Exercise 2
1 doesn’t have to stay: You use the auxiliary verb doesn’t in this negative sentence because the subject is he (Frank).

2   has to be: You need to use has in this positive sentence because the subject is he (Frank).

3 have to hurry: You need to use have in this positive sentence because the subject is we.

4   don't have to take: You use the auxiliary verb don’t in this negative sentence because the subject is we.

5 doesn’t have to cook: You use the auxiliary verb doesn’t in this negative sentence because the subject is she (Rebecca).
Exercise 3
1 have to meet: You need to use have in this positive sentence because the subject is we.

2 don't have to wear: You use the auxiliary verb don’t in this negative sentence because the subject is I.

3 have to buy: You need to use have in this positive sentence because the subject is I.

4 have to wash: The verb wash collocates with the dishes in this question.

5 doesn’t have to finish: You use the auxiliary verb doesn’t in this negative sentence because the subject is he (your brother).

Group B
4.5 have to / don’t have to
Exercise 1
1 have to: With the subject I, you use have.

2 don’t have to: You need a negative in this sentence – don’t have to.

3 have to: With the subject they (your friends), you use have.

4 has to: To show obligation, you need to use has to, NOT just has.

5 Does: You use the auxiliary verb does with the subject she (Doris) in the present simple.
Exercise 2
1 don’t have to clean: You use the auxiliary verb don’t in this negative sentence because the subject is they (Jenny’s parents).

2 have to finish: You need to use have in this positive sentence because the subject is I.

3  don’t have to do: You use the auxiliary verb don’t in this negative sentence because the subject is I.
4 doesn't have to study: You use the auxiliary verb doesn’t in this negative sentence because the subject is he (Steven).

5  has to do: You need to use has in this positive sentence because the subject is he (Steven).

Exercise 3
1 has to tidy: You need to use has in this positive sentence because the subject is he (your brother).

2 don't have to be: You use the auxiliary verb don’t in this negative sentence because the subject is we.

3 have to go: You need to use have in this question because the subject is you.

4 have to cook: You need to use have in this positive sentence because the subject is I.

5 don’t have to wait: You use the auxiliary verb don’t in this negative sentence because the subject is you.
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